Assignment

Simplify each expression.
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Answers to Assignment (ID: 1)
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Assignment

Simplify each expression.
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Answers to Assignment (ID: 2)
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Assignment
Simplify each expression.
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Answers to Assignment (I1D: 3)
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Assignment
Simplify each expression.
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ID: 5
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Simplify each expression.
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Answers to Assignment (ID: 5)
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Assignment
Simplify each expression.
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Answers to Assignment (I1D: 6)
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3(n+2)(n-1) 27k(3k — 4)(k - 1) (v+1)(v-o6)
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Assignment
Simplify each expression.
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Answers to Assignment (ID: 7)
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Assignment
Simplify each expression.
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Answers to Assignment (I1D: 8)

—39k + 3 — 6k? 46n — 8 + 3n° 16X +96x% + 128x + 1
1) 2) 3)
(k+ 1)(k+ 7) (Sn — 1)(n +2) 6x(x+2)(x+4)
1255x — 745 — 294X 24x% — 48x + 24 40a” +208a — 192 — 35a°
4) 5) 3
6(7x - 5)(2x - 7) (3x = 7)(x +3) 7a%(5a—4)(a +6)
) 2m? —11m + 14 ) 392n* — 728n° +336n> —n— 6
(m—1)(m-4) 21n(7n - 6)(n - 1)
9) 4p* —36p* +56p—4 10) 14x + 88 ) 3n*-15n+9
(p-2)(p-7) sbrdbers) T -3e-a)
20b- —216b 36a+ 12 — 6a 13x° +43x 2rr+r—-62
12 13 14 15
) Jo-1)b-3) ) a+2)@-s) ) 20(x+ 6)(x - 1) ) 2ar—e)r-7)
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_ _ 2 2 2 _ _ _ 2
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(7k + 1)(k - 3) (n+7)(n+8) 28(p - 1) 9x(x — 2)(x — 4)
20) 180n* +108n° — 288n% + 5

12n(5n + 8)(n - 1)
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Assignment

Simplify each expression.

3 6
1) -
r+6 3r+7
X—1 2
3) — +—
3X°+24x + 21 6
TX 3x
5) -
X+7 2X -3
2 3
7) —

3 100b? +280b + 192

7k + 8 5
) =5 +
3k~ + 18k k-8

3X 3
11) +
TX—4 X-6

4 N &n
3n—-6 7n+21

13)

&n S_n
14n> -52n+30  6n

15)

8r 5
+
r+5 r+2

17)
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Name

ID: 9

Date Period

8n 5
n+7 n-3

7

4) 8+
) 14m® — 63m? + 49m

7 6n
6) — + 3 >
4 28n° +44n- + 16n

7 3
10) +
X+8 3x-4

6 7
p+7 p+4

12)

14) 6 e
60v: —104v> +28v 4

3 8
X—2 X+3

16)

2 2
TX+2 5X+3

18)
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2 6a+7
19) — +— 20) S+ 5 oo
4b 2b*-b-15 4 S5a“+26a+5
4n 2 5X &xX
21) 5 - — 22) -
35n° — 68n+ 32 7 X—28 X—6
v—2 4v 8 8m
23) ——— t— 24) -
S5vi+ 12v+ 7 6

m-35 m+ 7

) gensvsnabh-wersheel oryg
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Answers to Assignment (I1D: 9)

) 3r-15 2 8n% —29n — 35 3) 9X + 6 + x>
(3r+7)(r+6) (n+7)(n —3) 3(x+ 1)(x+7)
16m* —72m? + 56m + 1 11x% — 42x 49n% + 77n + 34
4) ) 6)
m(2m - 7)(m - 1) (2x - 3)(x+7) 4(7n+4)(n+1)
) 200b? + 560b + 375 o -5a% + 5a% + 30a + 3 9) 22k? + 42k — 64
12(5b + 6)(5b + 8) (a+2)(a-3) 3k(k + 6)(k — 8)
. 2 . N _ 2
) 24x -4 11) 3Xx“+3x—-12 12) p-25 13) 20n + 84 + 24n
(3x — 4)(x +8) (7x - 4)(x - 6) (p+4)p+7) 21(n+3)(n-2)
4 3 2 _ 2 _ —
14) 3+ 15v7 =26V +7v 15) 154n — 35n 75 16) 11x-7
2v(5v —7)(3v - 1) 6(7n - 5)(n - 3) (x+3)(x-2)
2 _ 2 _ 4 3
17) 8r% +21r +25 18) 4% +2 19) 10b 53b 75 + 4b* — 24b
(r+2)(r+5) (7x +2)(5x + 3) 4b3(2b + 5)(b - 3)
) 5a% +38a+ 19 21) 164n — 70n? — 64 ) -3x% + 34x
2(5a+1)(a+5) 7(7n - 8)(5n — 4) (x - 6)(x - 8)
— 3 2 om?2
23) 17v -6 + 10v° + 24v 24) 56 +48m — 8m
3(5v+7)(v+1) (m+7)(m-5)
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Assignment
Simplify each expression.

8 4

1
) n+2

n+8

3 3k k-1
4 4k —16k* + 12k

4m 5

5) -
m-2 m+7

&n 4n
+
5n-3 n-3

7)

3 4
+
v—1 v—17

3 2
3 2 +
6b° +30b 3b+7

11)

2 8
2x — 14 X—4

13)

7n 8
3n+1

15
) n+3

4x 8X
X—4 X—06

17)
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Name

ID: 10

Date Period

5X 8X
2) — +—
3X° +28x+ 32 8

8 6n
4) — - 3
2 9n“-51n-18

3
20p% —92p + 48

5 6P _
4p

5X
+ 2
3x“+30x+75

8) 6

6 8
10) - - —
4 15r" 4+ 12r - 36

4a 6a
+
3a-3

12)
a+3

3k ok
k-2 k-8

14)

5 6
n-=g8

16)
n+3

8
15m? — 40m + 25

18) E+
7
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7 7

19) -
S5p+2 p+4

7b 7

21) —_—
b+6 b-8

SX+7 5

23 +—
) 6x> +50%x% +56x  3X

A dagsgs . mabh-verksheeb.org

4x 6
20) —
2X—6 X—1

2p

22) 8+ ——
) p> —4p-21

5 -3
7)) P—.

8N 3n*—-27n+24
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Answers to Assignment (ID: 10)

) 12n+72 ) 3x3 +28x% + 37x 3) 3k3 —9k% -1 2 12n? —70n - 24
(n+2)(n+8) (3x +4)(x + 8) 4k(k - 3) (3n+1)(n-6)
5) 4m? +23m + 10 ) 30p? — 138p + 69 ) 28n? —36n 18%? + 185X + 450
(m+7)(m-2) 4(5p-3)(p-4) (5n-3)(n-3) 3(x + 5)2
_ 3 2 _ 3 2
) 7V —25 10) 45r3 +36r> — 108r — 16 1) 3b+27+4b +20b
(v—1)(v-7) 6(5r — 6)(r +2) 2b%(3b + 7)(b + 5)
6a’ + 2a —IX+52 9k? — 36k 7n% +45n + 8
12) —————— 13) ———— 14) ————~ 15
N PRy PR ) —a)x-7) ) k= 2)k-3) ) Gnr )+ 3)
11n-33 —4x? + 8x 45m? — 120m + 131
16) ———— 17) —————
) 39 ) - a)(x-0) ) S35Gm—s)m-1)
—28p + 14 2x% — 8x + 18 7b? — 63b — 42 8p? —30p— 168
) 20) 7~ 21) 22)
(5p+2)(p+4) (x=1)(x-3) (b+6)(b-38) (p+3)(p-7)
265x% + 301 + 30x> 20) 7n? = 111n+ 120

6x(3x + 4)(x + 7) 24n(n - 1)(n - 8)
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